= AH O
N = 0 &8 AF S & Al A
20128 = 20Aa LBIGIH SAIASZD ~ TAIASD
SAAS Y
CANE(ZELR SN/ XN HL Al
CAHE S (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
SAAF 16,876,223 17,496,438 N620,215
= 1,000,000
o= 1,008,100
= 14,868,123
AMNE(2ELT S NL /XL Al 10,340,774 12,862,414 N2,521,640
= 1,000,000
< 1,008,100
o 8,332,674
CAHE S 2,365,315 1,942,133 423,182
TANHE 29 X2 71,080 59,200 11,880
201 B2 H| 46,080 44,200 1,880
01 AF22t2lt] 14,280 8,400 5,880
o9+ 14,280
—TAHERAG BN
70,000 * 12% = 153 12,600
—SIANAERRKF EALE
70,000 * 6 * 43| 1,680
02 83329 31,800 35,800 A4,000
02222 ¢ HMA 6,800
—0loJ} QESE ©HE52(SI] L L)
6,000,000 6,000
—EXOISHEEI L2 ASHIHI(EE
2) 800,000 800
OAAEZHIS X 25,000
—SAIHEEASHKLIS B) RAE=
25,000,000 25,000
203 2 =XlH| 25,000 15,000 10,000
03 Al =X Q2 =KIY| 25,000 15,000 10,000
OZANLH 2R 3,000,000 3,000
OZAIIEHREX 4,000,000 4,000
OMEHEZ Al 2F(H) 8,000,000 8,000
OMEHE Al 2F(8) 10,000,000 10,000
2020 TADI2AHE =¥ 2,288,000 1,877,000 411,000
401 Al HI L 20HY| 2,288,000 1,877,000 411,000
01 A& HI 2,288,000 1,877,000 411,000
OJE 23 AN dNE HLHE LA
2,288,000,000 2,288,000
=) =E LAMEA 6,235 5,933 302
101 214 H| 6,235 5,933 302
4 IIZtHZ22XNSES 6,235 5,933 302
Os2II=8 LHMEAH186E)
37,110 = 69 » 28 6,235




D EAAET

H: SANL(ELXNINL/XNSLZAI

?: TADIBAE BB (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Aol Ofl At ot Hws2
SADIBIAIE &5 150,000 320,000 A170,000
SAHEAE EXEA 150,000 320,000 A170,000
401 Al HIL 2 TH I 150,000 320,000 ~170,000
01 Al&t] 140,000 300,000 160,000
OSANHEHAE BUEX B4 140,000,000 140,000
03 Al& 2 THHI 10,000 20,000 A10,000
OSAHEHAE AYFE 10,000,000 0,000
SAHE 2,000,000 0 2,000,000
=2 1,000,000
2 1,000,000
DIZZ0IX FHAL 2,000,000 0 2,000,000
= 1,000,000
2 1,000,000
401 A& HIL2CH bl 2,000,000 0 2,000,000
= 1,000,000
2 1,000,000
01 Al&H| 1,980,000 0 1,980,000
OJNBEAINE 2 (2325 & )& (L=920n)
1,980,000, 000 1,980,000
= 990,000
2 990,000
03 Al& 2 THH] 20,000 0 20,000
OJNBEAINE S 2 (2325 & )& (L=920n)
20,000,000 20,000
= 10,000
= 0,000
CAHEER Ha 5,200,000 2,800,000 2,400,000
= 1,000,000
= 4,200,000
HOIAIIKIRE &2 (B335 M) 500,000 0 500,000
401 Al EHIL LTI 500,000 0 500,000
01 Al&t] 490,000 0 490,000
O**O*‘:Alﬁlil‘zi("S—SE/d, sotnsstn
o) I (L=1,200m) 490,000,000 490,000
03 Al& 2 THEl 10,000 0 10,000
OQ%‘EAI%IE‘:E(IS—SE/S, S n =t ]
o) I (L=1,200m) 10,000,000 0,000
HECANEC2 (B384, AZ-II2H)IHE 2,000,000 0 2,000,000
= 1,000,000
2 1,000,000
401 Al EHIL 2O HI 2,000,000 0 2,000,000
= 1,000,000
= 1,000,000
01 Al&H| 1,980,000 0 1,980,000




M SAASH

H: TANL(ZELXGMLY/NNSEL Al
Sel: SAHEER e (&te: @2
i} _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] At oH @;OH Hl =2
OHBEZAMHEZR2(FE3-85 4, AE~I2)
JH & (L=2,430m) 1,980,000, 000 1,980,000
[= 990,000
= 990,000
03 A& 2 0HH 20,000 0 20,000
OHBEZAMHEZR2(F3-85 4, AE~II2)
JH & (L=2,430m) 20,000,000 20,000
[= 10,000
= 10,000
HECAHEZ2(5Yel) Ha 500,000 0 500,000
401 A& HI 2 20| 500,000 0 500,000
01 Al&H] 490,000 0 490,000
OFHECAMAHEZZ2E (M-12846 ,5H2|)
490,000, 000 490,000
03 Al 20| 10,000 0 10,000
OB AHECZHME (A1-128H,592])
10,000,000 10,000
SRIZTAHECSR(A1-108M8, 25 FEHY) Ha 600,000 0 600,000
401 A& HI 220 600,000 0 600,000
01 Al&H] 590,000 0 590,000
OBHRISAHEEZ2(A-105H, 2S5 9
) JH& (L=312m) 590,000,000 590,000
03 Al< 2CHH] 10,000 0 10,000
OBHRISAHEETZ2(A-105H, 2S5 9 |
) JH& (L=312m) 10,000,000 10,000
SRIZTAHE S R(A345H, =SED~C032) i 250,000 0 250,000
M
401 Al & HIL 2 HH 250,000 0 250,000
01 Al&H] 240,000 0 240,000
OBRITAHECR(A34ENH, ZExD &)
WA (L=124m) 240,000,000 240,000
03 Al 201 10,000 0 10,000
OBRITAHECR2(A345H, ZExD &)
WA (L=124m) 10,000,000 10,000
NECAHECZ(AZ-1654)ME 450,000 0 450,000
401 Al HI L 201 450,000 0 450,000
01 Al&H] 440,000 0 440,000
ONBCAHETZ(A3-1654H, AFLUZ )
I & (L=60m) 440,000,000 440,000
03 Al 201 10,000 0 10,000
ONBCAHECTZ(A3-165 46, AFLUZ )
I (L=60m) 10,000,000 10,000
NECAHEC2(A2-585 46, IS ML 600,000 0 600,000




SN EARAED
HH: CAHS(ZELTNL/NALTAI)
Sel CAHHEE A

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
401 Al EHIZL 2OHY| 600,000 0 600,000
01 A& HI 590,000 0 590,000

ONEBEZAMHEEZZ(L2-585H, SR F
)0 & (L=240m) 590,000,000 590,000
03 Al 2 0Hd| 10,000 0 10,000
ONEBEZAMHEEZZ(L2-585H, SR &
)0 & (L=240m) 10,000,000 10,000

HAZANHEESZ(Z2-154, HOIZE)MHE 300,000 0 300,000
401 Al EHIZ 2OHY| 300,000 0 300,000
01 A& HI 295,000 0 295,000

OdATAAHETZ(Z2-18d, HOIE Y )MHE(
L=115m) 295,000,000 295,000
03 Al 2 01| 5,000 0 5,000
OdATAMAHETZ(T2-18d, HOIE Y )MHE(
L=115m) 5,000,000 5,000
FHEZIH 462,821 704,231 A 241,410
= 8,100
= 454,721
sSOHEUE ZHIALY 27,000 30,000 A3,000
= 8,100
i 18,900
402 QI2t =01 ™ 27,000 30,000 23,000
= 8,100
= 18,900
01 QX2 EX 27,000 30,000 A3,000
O=ZEEFZHIM 27,000,000 27,000
= 8,100
= 18,900

SYHASSE 22 12,050 12,050 0
201 Et2dd| 7,250 7,250 0
01 AL 22l 7,000 7,000 0

Ogsrag| 4,000
—d=s2d g5 2 A2 2,000,000 2,000
—SEHJIESE HIUTY HISFY

1,000,000 1,000
— =48 & =&l 1,000,000 1,000

O= 2kl 2,000
—=HA=SSHE A 2,000,000 2,000

Oogdxt= 1,000
—SHAESYIUEY Iz

1,000,000 1,000
02 2244 250 250 0
OZ232= ¥ HMAl 250




SN
X XH .
S Tt

el

A=

SANL(REXTANL /X AL Al

FHENA

_ _ SIEN
SN EB -GS - MBAY - BES arey e HRE2
—SHA=S=E SE €58 250 = 1,000= 250
202 o4 4l 4,800 4,800 0
01 =2 A b 4,800 4,800 0
Osdd== NEEE Oyl
20,000 » 2  10& * 12& 4,800
ASF2A 87 ¥ 29 2,000 3,000 ~1,000
201 L2 2,000 3,000 A 1,000
01 AFR 2t eld| 2,000 3,000 A 1,000
OEM € A= H= Y 1,000,000 1,000
OH=dHEH 822 A 1,000,000 1,000
ZINsRA & 2el 341,771 579, 181 A237,410
101 @124 H| 13,551 10,365 3,186
04 JIZtH2 2 S E+ 13,551 10,365 3,186
OuzZmotiel & 2AHdExgd=E mX22 ¢
F 13,551
— Q2 H] 37,110 » 798 * 502 12,989
—¢tH 2 NEEER 12,989,000 * 2.4% 312
— /=4 50,000 = 5& = 13l 250
201 get2Ad| 24,820 24,416 404
01 AR 2t 2ldl 14,220 13,860 360
Oo2g=¢ 1,960
— NSy FA&+H
70,000 = 69 = 23| 840
—SZISEUII=2IYAAZS A=
= 70,000 » 8% * 23] 1,120
Oget=gH| 1,000
—sHZ1=s JH2H@ =35 +& 1,000,000 1,000
(OF=g24:] 1,260
—sSEZ0sS =5 Al
7,000 = 3 » 5& « 12 1,260
Oogdx= 10,000
—sSEgZ20=s HIUI A HHISA=
10,000,000 10,000
02 2324l 10,600 10,556 44
OZ232= ¥ HMAl 10,600
—02LI0tHel 2l S L=
6,600,000 6,600
—Udel 438 E dIIB 4,000,000 4,000
202 44| 2,400 2,400 0
01 = LHAbI 2,400 2,400 0
O=gZ1=2 NEHx ol
0,000 = 22 » 5& = 123 2,400




A CARED
B CANL(RELTANL/XSLTA)

chel: FHE2NM (sl &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
206 M= 4l 7,000 2,000 5,000
01 M Z 4l 7,000 2,000 5,000
Ol Zmotinel, zHLdEELEE & £ICFH
LT 2l 4,000,000 4,000
O +=YUAHAN X2l 3,000,000 3,000
401 Al EHIZ 2O Y| 66,000 540,000 A474,000
01 A& HI 66,000 530,000 A464,000
O =2AAN X £ &4
8,000,000 * 4742 32,000
OSgZNE FHLXAE FH] 20,000,000 20,000
O0ZZIoIrE Hel sSMEE=S Sl
12,000,000 12,000
O &g otLfzter &Hy| 2,000,000 2,000
402 QIZE X201 M 228,000 0 228,000
01 QX=X 228,000 0 228,000
OZEEHIAE Hel 24 At 200,000,000 200,000
OSEotztet & 2,800,000 * 100H & 28,000
C2Y L3y S HEEY 80,000 80,000 0
402 QI2t X201 ™ 80,000 80,000 0
02 SIZtCH&E A I 80,000 80,000 0
OE=2H LY 5 HE2Y 80,000,000 80,000
OIGIOIEIA HMel & 2el 162,638 96,050 66,588
QIS JtRIA Hel ¥ 22 162,638 96,050 66,588
101 21 2d| 22,954 22,110 844
04 JIZtH 22 HEES 22,954 22,110 844
Ogdl=Isi ot &ak2te|(D-das) 22 11,477
— QI 24 H] 37,110 » 18 » 250 9,278
—F5=g 37,110 » 1Y » 52=F 1,930
—=28= 11,208,000 * 2.4% 269
oAR=E2HF2 o2 11,477
Al 37,110 » 18 = 250 9,278
— =5 37,110 » 18 » 52=F 1,930
—=28= 11,208,000 * 2.4% 269
201 Et2FH| 61,164 36, 180 24,984
01 AtR2tel 59,864 35,780 24,084
Oget=gH| 42,000
g HE U BEY Susia
300,000 = 20 X 6,000
—HESFET HAIA Y FANHLLE
200,000 * 120 24,000
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M E

ANA=
Y HE2HAH (ZAIAZ)(OIEH/IIE})
el J12dHI(SAIHSD) (et =3
_ _ SIEN
SN CR(EH) - NRAY - BES 0] &F o e HRE2
—oZ)| 2E7Y L ¢
150,000 = 1CH = 53 750
—or ¢ Held 2 3,000,000 3,000
—JIet=3+Y 1,200,000 1,200
—EM(gEE) 7Y 1,000,000 1,000
O= 2| 6,000
— A2 R X E20 A 6,000,000 6,000
202 o4 4l 16,128 16,330 N 202
01 SLHAHbI 16,128 16,330 A202
OJI2d R0l
120,000 = 28 128 » 40% 16,128
203 P =&l 4,200 4,200 0
04 RFAN2EHRFEH 4,200 4,200 0
ORN2IARFIHI(ZAIHZ)
350,000 = 12& 4,200
HeesS ([ ELXN MY /NIULCAI) 6,473,720 4,573,720 1,900,000
HWRAHAXES(ZAIA=D) 1,500,000 300,000 1,200,000
HEAHHRI= 1,500,000 300,000 1,200,000
701 JIEIRIHIEES 1,500,000 300,000 1,200,000
O1 JIEtEl AN E=S 1,500,000 300,000 1,200,000
OZAMAEANEUHXNELLASES A
300,000,000 300,000
OJIBAIE S E 3 100,000, 000 100,000
OSMLALEE S A 1,100,000, 000 1,100,000
SIS (SAIAF) 4,973,720 4,273,720 700,000
BENE (28 4,973,720 4,273,720 700,000
311 XS SO0l AHar e 773,720 773,720 0
02 Al - & - RXHMLISXL SO0IAH&HES 427,000 0 427,000
OadEANA TAHEALE &#F 189,000,000 189,000
ONHEAHEEZIHE(E1-6,2-9)
109,200,000 109,200
ONHAIX R E2IH (S3-6) 128,800,000 128,800
04 SLEF2XL SO0l A& 224,220 224,220 0
OBBEANACZ(S1-454))
224,220,000 224,220
06 J|Et Xt S 0f Ah&atk 2t 122,500 0 122,500
OJNEEZAMHAEEZ(UHZI25H )4 Serzel
JI2 X OlX+ &g 122,500,000 122,500
601 XML =J=4E 4,200,000 3,500,000 700,000
02 Al - 2 - FXGHLIISAL=d=eta 3,500,000 0 3,500,000




SN EAAE
H: HRES(2EY
el BEXE(E

_ _ _ Muo
SNBSS - MEAY - BES 01l &k o e HlnE2
OaHANA TAHEANE &=
1,800,000,000 1,800,000
OB E AN 2N (51-6,2-9)
780,000,000 780,000
ONHAIIXN R E2ME (F3-6) 920,000,000 920,000
06 JIEt= LRI 2 JAZ &S 700,000 0 700,000
ONEZAMAHEZZ2(UHZI-2546)ME SEH2tel
g skt &3 &3 700,000,000 700,000




